THE INFORMATION IN THIS BOX IS NOT A PART OF THE CONTRACT AND IS FOR COUNTY USE ONLY



Contract Number	
SAP Number	

Department of Public Works – Special Districts

Department Contract Representative Telephone Number	Charles Brammer (909)361-0475
Contractor	Norstar Plumbing & Engineering Inc.
Contractor Representative	Gary Plummer
Telephone Number	(909)481-9488
Contract Term	730 Calendar Days
Original Contract Amount	\$17,788,935.00
Amendment Amount	
Total Contract Amount	
Cost Center	

IT IS HEREBY AGREED AS FOLLOWS:

CONSTRUCTION AGREEMENT

This Construction Agreement ("Agreement" or "Contract") is made effective this February 28, 2023 ("Agreement Date") by and between San Bernardino County ("County") and Norstar Plumbing and Engineering Inc. ("Contractor") for the construction of the Chino Airport Remedial Action Project - Phase One ("Project").

ARTICLE I

CONTRACT DOCUMENTS AND INTERPRETATION

1.1 DEFINITIONS

The meanings of all capitalized terms used in the Contract Documents and not otherwise defined herein are contained in the General Conditions. If not defined in the General Conditions, they shall have the meaning assigned to them elsewhere in the Contract Documents. If not defined in the General Conditions or elsewhere, they shall have the meanings reasonably understood to apply to them by the context of the portion of the Contract Documents where such terms are used.

1.2 CONTRACT DOCUMENTS

The "Contract Documents" except for modifications issued after execution of this Agreement, consist of the following documents, all of which are either attached hereto as exhibits or are incorporated herein by this reference:

- **1.2.1** Advertisement For Bids (Project No. <u>10.10.0556</u>), dated October 28, 2022.
- 1.2.2 Bidder's Proposal, dated January 5, 2023.
- 1.2.3 General Conditions
- 1.2.4 Performance Bond
- 1.2.5 Labor and Material Bond
- 1.2.6 Special Conditions
- 1.2.7 Bid documents entitled "Chino Airport Remedial Action Project Phase One".
- 1.2.8 Specifications, entitled "Chino Airport Remedial Action Project Phase One".
- 1.2.9 Drawings, entitled "Chino Airport Remedial Action Project Phase One".
- 1.2.10 Addendum No. 1, dated November 1, 2022.
- 1.2.11 Addendum No. 2, dated November 28, 2022.
- 1.2.12 Addendum No. 3, dated November 29, 2022.
- 1.2.13 Addendum No. 4, dated December 15, 2022.
- 1.2.14 Addendum No. 5, dated December 22, 2022.
- 1.2.15 Certified copy of the record of action of the Board of Supervisors, San Bernardino County.

1.3 ENTIRE AGREEMENT

The Contract Documents represent the entire and integrated agreement between County and Contractor, all other representations or statements, whether verbal or written, are merged herein. The Agreement may be amended only by written modification. The San Bernardino County Board of Supervisors, or its authorized designee, must approve any amendment to this Agreement.

ARTICLE II

THE WORK

2.1 SCOPE OF WORK

2.1.1 Contractor will furnish all materials, labor, tools, equipment, apparatus, facilities, transportation, construction, landscaping, clean-up, and all other construction services of any type necessary to complete all Work in strict conformity with the Contract Documents. Except with regard to any material to be provided and/or installed by County, Contractor shall fully commission and turn over a complete operational and fully functional Project to County. Without limiting the generality of this Section, Contractor shall provide the following Work and services:

Revised 1/10/23 Page 2 of 36

- a. Contractor shall provide, install and complete as specified and pay for all labor, materials and equipment, tools, supplies, construction equipment and machinery, construction, start-up and testing, utilities, transportation, and other facilities and services (including any temporary materials, equipment, supplies and facilities) necessary for the proper execution and completion of the complete, operational, and fully functional Project, including the permanent interconnection for electricity, natural gas, water supply, and any other utilities and demonstration of fully satisfactory operation of all systems and equipment. The County will pay connection fees directly to the utilities for all permanent water and electrical connections.
- b. Contractor shall supervise and direct the Work, and shall furnish the services of all supervisors, forepersons, skilled and unskilled labor, and all other personnel necessary to construct the complete, operational, and fully functional Project. Contractor shall provide, manage and organize such personnel as necessary to complete the Work in accordance with all requirements of the Contract Documents.
- c. Contractor shall obtain, at Contractor's expense, all governmental and private approvals, permits and licenses, required to complete the Work; provided, however, County will be responsible for paying the cost of all County imposed fees necessary for the Project. Contractor shall construct a complete, operational, and fully functional Project in full compliance with all Applicable Laws, codes and standards (both public and private), including but not limited to, the standards included and warranties expressed in the Contract Documents and manufacturer's recommendations pertaining to individual items of equipment or systems.

2.2 STANDARD OF PERFORMANCE

In addition to and without limiting Contractor's other obligations under the Contract Documents, Contractor shall at all times in its performance of its obligations under the Contract Documents conform to the following general standards of performance:

- 2.2.1 Comply with the requirements of the Contract Documents;
- 2.2.2 Comply with Applicable Laws;
- **2.2.3** Conform to the standard of care applicable to those who provide construction of the type called for by this Agreement for projects of a scope and complexity that is comparable to the Project;
- **2.2.4** Furnish efficient business administration of the Work, utilizing senior level management and other qualified personnel to manage the Work; and
- 2.2.5 Apply its best and highest skill and attention to completing the Work in an expeditious and economical manner, consistent with the express best interests of the County and within the limitations of the Contract Sum and Contract Time.

ARTICLE III

TIME FOR PERFORMANCE

3.1 CONTRACT TIME

The Date of Commencement of the Work shall be fixed in a Notice to Proceed issued by the County. If County's issuance of a Notice to Proceed is delayed due to Contractor's failure to provide insurance documents or bonds within ten (10) calendar days after the date of award of the Contract by the Board of Supervisors or Chief Executive Officer, one (1) calendar day will be deducted from the number of days to achieve Final Completion of the Work for every day of delay in County's receipt of such documents. This right is in addition to and does not affect County's right to demand forfeiture of Contractor's Bid Security, or any other rights or remedies available to County if Contractor persistently delays in providing the required documentation. Contractor agrees to promptly commence the Work after the Notice to Proceed is issued by the County and to achieve Final

Revised 1/10/23 Page 3 of 36

Completion of the entire Work within **730 calendar days** after the Date of Commencement ("Contract Time"). The Contract Time may be extended only by the written authorization of the County.

3.2 LIQUIDATED DAMAGES

- **3.2.1** County and Contractor recognize that time is of the essence in this Agreement and that the County may suffer financial loss, including but not limited to, the loss of grant funds, additional contract administration expenses, and loss of public use if the Work is not completed within the Contract Time, including any extensions thereof allowed in accordance with the Contract Documents.
- **3.2.2** Contractor and County agree to liquidate damages with respect to Contractor's failure to achieve Final Completion of the Work within the Contract Time. The Parties intend for the liquidated damages set forth herein to apply to this Contract as set forth in Government Code Section 53069.85. Contractor acknowledges and agrees that the liquidated damages are intended to compensate County solely for Contractor's failure to meet the deadline for Final Completion and shall not excuse Contractor from liability from any other breach, including any failure of the Work to conform to the requirements of the Contract Documents.
- **3.2.3** In the event that Contractor fails to achieve Final Completion of the Work within the Contract Time, Contractor agrees to pay County **\$2000** for each calendar day that Final Completion is delayed.
- **3.2.4** Contractor acknowledges and agrees that the foregoing liquidated damages have been set based on an evaluation by County of damages that it will incur in the event of the late completion of the Work. Contractor and County agree that because of the nature of the Project it would be impractical or extremely difficult to fix the amount of actual damages incurred by the County due to a delay in completion of the Work. Accordingly, the County and Contractor have agreed to such liquidated damages to fix Contractor's costs and to avoid later disputes. It is understood and agreed by Contractor that any liquidated damages payable pursuant to this Agreement are not a penalty and that such amounts are not manifestly unreasonable under the circumstances existing as of the effective date of this Agreement.
- **3.2.5** It is further mutually agreed that County shall have the right to deduct liquidated damages against progress payments or retainage and that the County will issue a unilateral Construction Change Directive and reduce the Contract Sum accordingly. In the event the remaining unpaid Contract Sum is insufficient to cover the full amount of liquidated damages, Contractor shall pay the difference to County.

Revised 1/10/23 Page 4 of 36

ARTICLE IV

CONTRACT SUM

4.1 CONTRACT SUM

4.1.1 <u>Total Compensation.</u> County shall pay the Contractor, and Contractor agrees to accept, in current funds for the Contractor's complete performance of the Work in accordance with the Contract Documents the Contract Sum of:

4.1.2 All Inclusive Price. The Contract Sum, subject to additions and deductions, is the total amount payable by County to Contractor for performance of the Work under the Contract Documents and is deemed to cover all costs arising out of or related to the performance of the Work, including, without limitation, the effects of natural elements upon the Work, unforeseen difficulties or obstructions affecting the performance of the Work (including, without limitation, unforeseen conditions at the Site that do not constitute Differing Site Conditions) and fluctuations in market conditions and price escalations (whether occurring locally, nationally or internationally) from any cause, including, without limitation, causes beyond the control or foreseeability of the Contractor. Accordingly, Contractor agrees to receive and accept the following prices as full compensation for furnishing all materials and for doing all the work contemplated and embraced in this agreement, also for expenses incurred by or in consequence of the suspension or discontinuance of work and for well and faithfully completing the work, and the whole thereof, in the manner and according to this agreement, to wit:

Revised 1/10/23 Page 5 of 36

ITEMIZED BID SCHEDULE I – RAW WATER CONVEYANCE PIPELINE:						
ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT	
100	Mobilization/Demobilization, Permits, Insurance, Bonds and General Conditions	1	L.S.	450,000.00	450,000.00	
101	Furnish and Install Excavation Safety Measures	1	L.S.	150,000.00	150,000.00	
102	Furnish and Install 16-inch C-900 PVC Pipe including pavement removal and replacement	3900	L.F.	345.00	1,345,500.00	
103	Furnish and Install 16-inch C-900 PVC Pipe in unpaved areas	1870	L.F.	280.00	523,600.00	
104	Furnish and install 12-inch C-900 PVC Pipe including pavement removal and replacement	1360	L.F.	275.00	374,000.00	
105	Furnish and Install 12-inch C-900 PVC Pipe in unpaved areas	1380	L.F.	255.00	351,900.00	
106	Furnish and Install 8-inch C-900 PVC Pipe including pavement removal and replacement	2880	L.F.	235.00	676,800.00	
107	Furnish and Install 8-inch C-900 PVC Pipe in unpaved areas	1600	L.F.	225.00	360,000.00	
108	Furnish and Install 6-inch C-900 PVC Pipe including pavement removal and replacement	1730	L.F.	230.00	397,900.00	
109	Furnish and Install 6-inch C-900 PVC Pipe in unpaved areas	2800	L.F.	220.00	616,000.00	
110	Furnish and Install Junction Box for Locator Wire	40	E.A.	4,000.00	160,000.00	
111	Furnish and Install 12-inch Resilient Seated Gate Valve and Valve Box	2	E.A.	15,000.00	30,000.00	
111	Furnish and Install 8-inch Resilient Seated Gate Valve and Valve Box	1	E.A.	12,000.00	12,000.00	
112	Furnish and Install 6-inch Resilient Seated Gate Valve and Valve Box	5	E.A.	11,000.00	55,000.00	
113	Furnish and Install 16-inch Butterfly Valve and Valve Box	1	E.A.	25,000.00	25,000.00	
114	Furnish and Install 1-inch Air Release Valve Assembly	6	E.A.	19,000.00	114,000.00	
115	Furnish and Install 2-inch Air Release Valve Assembly	1	E.A.	20,000.00	20,000.00	
116	Furnish and Install 4-inch Blowoff Assembly	7	E.A.	20,000.00	140,000.00	

Revised 1/10/23 Page 6 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
117	Connect to Existing 12-inch Raw Water Main at Sta: 308+45	1	L.S.	20,000.00	20,000.00
118	Connect to Existing 6-inch Raw Water Main at Sta: 515+45	1	L.S.	18,000.00	18,000.00
119	Prepare SWPPP and Implement BMPs	1	L.S.	45,000.00	45,000.00
120	Disinfect and Pressure Test Raw Water and All Other Work on the Plans and Within the Specifications not Outlined in Bid Item No.100 Through 119 and not included in another bid schedule to Furnish the County with a Complete and Correctly Functioning Facilities	1	L.S.	30,000.00	30,000.00
	SCHEDULE 1 TOTAL BASE BID				5,914,700.00

Revised 1/10/23 Page 7 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
200	Mobilization/Demobilization, Permits, Insurance, Bonds and General Conditions	1	L.S.	150,000.00	150,000.00
201	Well Site EW-01: Furnish and install all necessary materials and equipment for the Potable Water Extraction Well EW- 01 site, including but not limited to, two submersible well pumping assemblies; piping, valving, appurtenances and modifying well casing and tubing; grading and site work; concrete work; CMU building and concrete slabs; electrical including VFD, power service, instrumentation and controls, transformer pad, conduits and meter per SCE Plan of Service; and all related work at site EW-01 as required in accordance with the Contract Drawings and Specifications, complete and in place.	1	L.S.	1,296,000.00	1,296,000.00
202	Well Site EW-02: Furnish and install all necessary materials and equipment for the Potable Water Extraction Well EW- 02 site, including but not limited to, three submersible well pumping assemblies; piping, valving, appurtenances and modifying well casing and tubing; grading and site work; concrete work; CMU building and concrete slabs; electrical including VFD, power service, instrumentation and controls; transformer pad, conduits and meter per SCE Plan of Service; and all related work at site EW-02 as required in accordance with the Contract Drawings and Specifications, complete and in place.	1	L.S.	1,463,000.00	1,463,000.00
203	Well Site EW-03: Furnish and install all necessary materials and equipment for the Potable Water Extraction Well EW- 03 site, including but not limited to, two submersible well pumping assemblies; piping, valving, appurtenances and modifying well casing and tubing; grading and site work; concrete work; CMU building and concrete slabs; electrical including VFD, power service, instrumentation and controls; transformer pad, conduits and meter per SCE Plan of Service; and all related work for EW-03 as required in accordance with the Contract Drawings and Specifications, complete and in place.	1	L.S.	1,382,000.00	1,382,000.00
204	Well Site EW-04: Furnish and install all necessary materials and equipment for the Potable Water Extraction Well EW- 04 site, including but not limited to, one submersible well pumping assembly; piping, valving, appurtenances and modifying well casing and tubing; grading and site work; concrete work; CMU building and concrete slabs; electrical including VFD, power service, instrumentation and controls; electrical service, transformer pad, conduits and meter per SCE Plan of Service; and all related work for site EW-04 as required in accordance with the Contract Drawings and Specifications, complete and in place.	1	L.S.	1,237,000.00	1,237,000.00

Revised 1/10/23 Page 8 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
205	Well Site EW-05: Furnish and install all necessary materials and equipment for the Potable Water Extraction Well EW- 05 site, including but not limited to, two submersible well pumping assemblies; piping, valving, appurtenances and modifying well casing and tubing; grading and site work; tubular steel fence; concrete work; electrical including VFD, power service, equipment within sun shade structure, instrumentation and controls; transformer pad, conduits, and meter per SCE Plan of Service; and all related work for EW- 05 as required in accordance with the Contract Drawings and Specifications, complete and in place.	1	L.S.	1,137,000.00	1,137,000.00
206	San Bernardino Cost Allocation for Fiber Optic Network including conduit, pull boxes, patch panels at CDA well sites, and all work to provide a complete Fiber Optic communications network.		L.S.	600,000.00	600,000.00
207	CDA Cost Allocation for Fiber Optic Network including conduit, pull boxes, trenching, patch panels at CDA well sites, and all work to provide a complete Fiber Optic communications network.	1	L.S.	475,000.00	475,000.00
	SCHEDULE II TOTAL BASE BID				7,740,000.00

Revised 1/10/23 Page 9 of 36

ITEMIZED BID SCHEDULE III – MONITORING WELL CONSTRUCTION:					
ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
300	Mobilization/Demobilization and all associated activities including permits, erosion control, hand auger probing, temporary facilities, demobilization, site cleanup, and site restoration for all 3 well sites (total of 5 monitoring wells).	1	L.S.	62,000.00	62,000.00
301	Drill boreholes using rotosonic rig and collect 3.75" diam. Continuous soil core samples to total depth for each borehole	1250	FT	105.00	131,250.00
302	Provide laboratory sieve analysis results	35	E.A.	205.00	7,175.00
303	Collect depth discrete groundwater samples using Hydropunch sampler	35	E.A.	1,300.00	45,500.00
304	Furnish and install a complete well casing string that includes 2" Sched 40 CPVC blank above the top of well screen, 2" Sched 40 PVC well screen, and 2" Sched 40 PVC blank bottom sump in each borehole	1210	FT	62.00	75,020.00
305	Furnish and install gravel pack, transition sand, bentonite seals, and cement-bentonite grout seal in each borehole	1240	FT	62.00	76,880.00
306	Well development by surging and bailing. Only the actual time durations of active surging and bailing are applicable for payment	30	HR	852.00	25,560.00
307	Well development by airlifting, if requested by the Engineer. Only the actual time durations of active airlifting are applicable for payment	20	HR	852.00	17,040.00
308	Well development by submersible pump. Only the actua time durations of active pumping are applicable for payment	30	HR	852.00	25,560.00
309	Plumbness and alignment testing	5	E.A.	255.00	1,275.00
310	Contain, transport, and dispose of all solid wastes generated during site work at landfill or soil recycling facility approved by the Engineer.	40	TON	625.00	25,000.00
311	Contain, transport, and dispose of all water generated during site work at Inland Empire Utilities Agency (IEUA) Regional Water Recycling Plant No. 5 located at 6063 Kimball Avenue, Chino at Contractor's expense. Water shall be contained in closed top tanks.	50,000	GAL	1.00	50,000.00
312	Install 12" diameter cast iron EMCO well box for each well.	5	E.A.	1,600.00	8,000.00
313	Destroy / Destruction of existing piezometer PZ- 3C/D, adjustment to grade of existing PZ-3A/B, and protect-in-place existing PZ-4A/B and PZ-4C/D.	1	L.S.	2,800.00	2,800.00

Revised 1/10/23 Page 10 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
314	Standby rate – rig and crew	20	HR	785.00	15,700.00
315	Standby rate – rig only	20	HR	550.00	11,000.00
	SCHEDULE III TOTAL BASE BID				579,760.00

316	Optional Bid Item: Onsite disposal of wastewater. Spray wastewater on airport roads using water spray trucks	50,000	GAL	0.10	5,000.00
317	Optional Bid Item: Onsite disposal of wastewater. Convey and pump wastewater to percolation pond at the southwest corner of airport.	50,000	GAL	0.10	5,000.00
318	Optional Bid Item: Onsite disposal of wastewater. Convey, connect to, and pump wastewater to sod farm irrigation system at airport.	50,000	GAL	0.10	5,000.00

Revised 1/10/23 Page 11 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
400	Mobilization/Demobilization and all associated activities including permits, erosion control, hand auger probing, temporary facilities, demobilization, site cleanup, and site restoration for a total of EW-1A and EW-1B extraction wells, that are not covered in Monitoring Well Construction work.	1	LS	82,000.00	82,000.00
401	Furnish, install and maintain sound enclosure during drilling activities (if requested).	400	LF	355.00	142,000.00
402	Drill 32-inch conductor borehole to 53', furnish and install 26-inch OD mild steel conductor casing to 50 ft feet bgs.	50	LF	410.00	20,500.00
403	Drill 17.5 inch pilot borehole (53 to 170 feet bgs)	117	LF	115.00	13,455.00
404	Perform downhole geophysical surveys (if requested)	1	LS	2,560.00	2,560.00
405	Install and perform Isolated Zone Testing	3	EA	16,000.00	48,000.00
405	Ream borehole to 20-inch diameter (53 to 70 feet bgs).	17	LF	325.00	5,525.00
406	Drill 18-inch diameter borehole (70 to 170 feet bgs).	100	LF	110.00	11,000.00
407	Caliper survey reamed borehole.	1	LS	3,800.00	3,800.00
408	Furnish and install blank well casing, 10-1/4 ID, 1/4-inch-thick wall, 304LSS (+4-70 and 150-160 ft bgs)	84	LF	255.00	21,420.00
409	Furnish and install well screen, 10-1/4 ID, 1/4-inch-thick wall, 304LSS Roscoe Moss Ful-Flo (70-150 ft bgs)	80	LF	305.00	24,400.00
410	Furnish and install well bottom caps, 304L SS	1	LS	760.00	760.00
411	Furnish and install gravel feed pipe, 2-1/2-inch diameter, schedule 40,304L SS (+3.5 to 62 ft bgs)	66	LF	80.00	5,280.00
412	Furnish and Install gravel pack (Premier Silica), disinfect and consolidate gravel pack (57 to 170 feet bgs).	113	LF	80.00	9,040.00
413	Furnish and Install Bentonite and Sand Transition Seals above gravel pack.	7	LF	160.00	1,120.00
414	Furnish and Install sanitary seal (10.3 sack sand-cement mix).	50	LF	65.00	3,250.00
415	Primary well development - develop and clean well by surging and airlifting with drill rig. Remove sediment from bottom of well. Only the actual time durations of active surging, bailing, and airlifting are applicable for payment	24	HR	755.00	18,120.00
416	Perform plumbness and alignment surveys	1	LS	5,000.00	5,000.00

Revised 1/10/23 Page 12 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
417	Secondary well development - furnish and install submersible test pump, develop well by pumping and surging with test pump at upper and then at lower portions of the well screens (pump intake depths to be determined after final well design). Only the actual time durations of active pumping are applicable for payment.	24	HR	955.00	22,920.00
418	Perform aquifer testing, furnish equipment, materials, and labor (8 hours for step-drawdown test, 24 hours for constant rate test, and allow full water level recovery after each test). Remove sediment from bottom of well.	32	HR	955.00	30,560.00
419	Perform downwell video log survey.	1	LS	3,000.00	3,000.00
420	Perform well disinfection and cap all well casings and tubes.	1	LS	16,000.00	16,000.00
421	Containment and offsite disposal of drill cuttings and drilling mud	1	LS	47,000.00	47,000.00
422	Furnish materials, equipment, appurtenances, and labor to deliver, install, setup, and test a portable GAC system for VOC treatment at EW-1A/B site, including moving to next well site or removal.		LS	75,000.00	75,000.00
423	Treat purged groundwater using GAC system and reduce VOC concentrations to below the MCLs. Water shall be contained in closed top tanks. All costs to operate, monitor, and maintain the GAC system shall be included.	700,000	GAL	0.10	70,000.00
424	Onsite disposal of wastewater. Convey, connect to, and pump wastewater to sod farm irrigation system at airport.	700,000	GAL	0.10	70,000.00
425	Standby rate – rig and crew	8	HR	755.00	6,040.00
426	Standby rate – rig only	8	HR	505.00	4,040.00
	SCHEDULE IV TOTAL BASE BID				761,790.00
·····		T	<u> </u>	T	·····
427	Optional Bid Item: Onsite disposal of wastewater. Spray wastewater on airport roads using water spray trucks	700,000	GAL	0.10	70,000.00
428	Optional Bid Item: Onsite disposal of wastewater. Convey and pump wastewater to percolation pond at the southwest corner of airport.	700,000	GAL	0.10	70,000.00

Revised 1/10/23 Page 13 of 36

Optional Bid Item: Offsite disposal of wastewater. Contain, transport, and dispose of water at IEUA Regional Water Recycling Plant No. 5 located at 6063 Kimball Avenue, Chino. Water shall be contained in closed top tanks.	700,000	GAL	0.10	70,000.00
---	---------	-----	------	-----------

Revised 1/10/23 Page 14 of 36

ITEMIZED BID SCHEDULE V - EXTRACTION WELL CONSTRUCTION - EW-1B:							
ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT		
500	Drill 32-inch conductor borehole to 53', furnish and install 26-inch OD mild steel conductor casing to 50 ft feet bgs.	50	LF	425.00	21,250.00		
501	Drill 17.5 inch pilot borehole (53 to 350 feet bgs)	297	LF	115.00	34,155.00		
502	Perform downhole geophysical surveys (if requested)	1	LS	2,800.00	2,800.00		
503	Install and perform Isolated Zone Testing	4	EA	15,500.00	62,000.00		
504	Ream borehole to 20-inch diameter (53 to 170 feet bgs).	117	LF	305.00	35,685.00		
505	Drill 18-inch diameter borehole (170 to 350 feet bgs).	180	LF	105.00	18,900.00		
506	Caliper survey reamed borehole.	1	LS	3,500.00	3,500.00		
507	Furnish and install blank well casing, 10-1/4 ID, 1/4-inch-thick wall, 304LSS (+4-170 and 330-340 ft bgs)	184	LF	255.00	46,920.00		
508	Furnish and install well screen, 10-1/4 ID, 1/4-inch- thick wall, 304LSS Roscoe Moss Ful-Flo (170-330 ft bgs)	160	LF	305.00	48,800.00		
509	Furnish and install well bottom caps, 304L SS	1	LS	800.00	800.00		
510	Furnish and install gravel feed pipe, 2-1/2-inch diameter, schedule 40,304L SS (+3.5 to 165 ft bgs)	169	LF	80.00	13,520.00		
511	Furnish and Install gravel pack (Premier Silica), disinfect and consolidate gravel pack (160-350 feet bgs).	190	LF	80.00	15,200.00		
512	Furnish and Install Bentonite and Sand Transition Seals above gravel pack.	7	LF	200.00	1,400.00		
513	Furnish and Install sanitary seal (10.3 sack sand-cement mix).	50	LF	75.00	3,750.00		
514	Primary well development - develop and clean well by surging and airlifting with drill rig. Remove sediment from bottom of well. Only the actual time durations of active surging, bailing, and airlifting are applicable for payment	24	HR	800.00	19,200.00		
515	Perform plumbness and alignment surveys	1	LS	6,000.00	6,000.00		
516	Secondary well development - furnish and install submersible test pump, develop well by pumping and surging with test pump at upper and then at lower portions of the well screens (pump intake depths to be determined after final well design). Only the actual time durations of active pumping are applicable for payment.	30	HR	955.00	28,650.00		

Revised 1/10/23 Page 15 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
517	Perform aquifer testing, furnish equipment, materials, and labor (8 hours for step-drawdown test, 24 hours for constant rate test, and allow full water level recovery after each test). Remove sediment from bottom of well.	32	HR	955.00	30,560.00
518	Perform downwell video log survey.	1	LS	3,000.00	3,000.00
519	Perform well disinfection and cap all well casings and tubes.	1	LS	18,000.00	18,000.00
520	Containment and offsite disposal of drill cuttings and drilling mud	1	LS	57,000.00	57,000.00
521	Standby rate – rig and crew	8	HR	755.00	6,040.00
522	Standby rate – rig only	8	HR	505.00	4,040.00
	SCHEDULE V EW-1B TOTAL BASE BID				481,170.00

Revised 1/10/23 Page 16 of 36

ı	ITEMIZED RID	SCHEDULE VI -	 EXTRACTION WELL 	CONSTRUCTION -	- EW-3A:
ı		OCHEDOLE VI		. 001101110011011	- T

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
600	Mobilization/Demobilization and all associated activities including permits, erosion control, hand auger probing, temporary facilities, demobilization, site cleanup, and site restoration for cluster EW-3A and EW-3B extraction wells, that are not covered in Monitoring Well Construction work.		LS	85,000.00	85,000.00
601	Furnish, install and maintain sound enclosure during drilling activities (if requested).	400	LF	355.00	142,000.00
602	Drill 34-inch conductor borehole to 53', furnish and install 26-inch OD mild steel conductor casing to 50 ft feet bgs.		LF	405.00	20,250.00
603	Drill 17.5 inch pilot borehole (53 to 210 feet bgs)	157	LF	130.00	20,410.00
604	Perform downhole geophysical surveys (if requested)	1	LS	3,000.00	3,000.00
605	Install and perform Isolated Zone Testing	3	EA	15,500.00	46,500.00
606	Ream borehole to 22-inch diameter (53 to 70 feet bgs).	17	LF	305.00	5,185.00
607	Drill 20-inch diameter borehole (70 to 210 feet bgs).	140	LF	105.00	14,700.00
608	Caliper survey reamed borehole.	1	LS	5,000.00	5,000.00
609	Furnish and install blank well casing, 12-1/4 ID, 1/4-inch-thick wall, 304LSS (+4-70 and 190-200 ft bgs)	84	LF	305.00	25,620.00
610	Furnish and install well screen, 12-1/4 ID, 1/4-inch-thick wall, 304LSS Roscoe Moss Ful-Flo (70-190 ft bgs)	120	LF	355.00	42,600.00
611	Furnish and install well bottom caps, 304L SS	1	LS	950.00	950.00
612	Furnish and install gravel feed pipe, 2-1/2-inch diameter, schedule 40,304L SS (+3.5 to 62 ft bgs)	66	LF	80.00	5,280.00
613	Furnish and Install gravel pack (Premier Silica), disinfect and consolidate gravel pack (57 to 210 feet bgs).	153	LF	75.00	11,475.00
614	Furnish and Install Bentonite and Sand Transition Seals above gravel pack.	7	LF	160.00	1,120.00
615	Furnish and Install sanitary seal (10.3 sack sand-cement mix).	50	LF	75.00	3,750.00
616	Primary well development - develop and clean well by surging and airlifting with drill rig. Remove sediment from bottom of well. Only the actual time durations of active surging, bailing, and airlifting are applicable for payment	24	HR	755.00	18,120.00
617	Perform plumbness and alignment surveys	1	LS	5,000.00	5,000.00

Revised 1/10/23 Page 17 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
618	Secondary well development - furnish and install submersible test pump, develop well by pumping and surging with test pump at upper and then at lower portions of the well screens (pump intake depths to be determined after final well design). Only the actual time durations of active pumping are applicable for payment.	30	HR	960.00	28,800.00
619	Perform aquifer testing, furnish equipment, materials, and labor (8 hours for step-drawdown test, 24 hours for constant rate test, and allow full water level recovery after each test). Remove sediment from bottom of well.	32	HR	960.00	30,720.00
620	Perform downwell video log survey.	1	LS	2,600.00	2,600.00
621	Perform well disinfection and cap all well casings and tubes.	1	LS	18,000.00	18,000.00
622	Containment and offsite disposal of drill cuttings and drilling mud	1	LS	46,000.00	46,000.00
623	Furnish materials, equipment, appurtenances, and labor to deliver, install, setup, and test a portable GAC system for VOC treatment at EW-3A/B site, including moving to next well site or removal.	1	LS	78,000.00	78,000.00
624	Treat purged groundwater using GAC system and reduce VOC concentrations to below the MCLs. Water shall be contained in closed top tanks. All costs to operate, monitor, and maintain the GAC system shall be included.	1,300,000	GAL	0.10	130,000.00
625	Onsite disposal of wastewater. Convey, connect to, and pump wastewater to sod farm irrigation system at airport.	1,300,000	GAL	0.10	130,000.00
626	Standby rate – rig and crew	8	HR	755.00	6,040.00
627	Standby rate – rig only	8	HR	505.00	4,040.00
	SCHEDULE VI TOTAL BASE BID				930,160.00

628	Optional Bid Item: Onsite disposal of wastewater. Spray wastewater on airport roads using water spray trucks	1,300,000	GAL	0.10	130,000.00
	Optional Bid Item: Onsite disposal of wastewater. Convey and pump wastewater to percolation pond at the southwest corner of airport.	1,300,000	GAL	0.10	130,000.00

Revised 1/10/23 Page 18 of 36

	Optional Bid Item: Offsite disposal of wastewater. Contain, transport, and dispose of water at IEUA Regional Water Recycling Plant No. 5 located at 6063 Kimball Avenue, Chino. Water shall be contained in closed top tanks.	1,300,000	GAL	0.10	130,000.00
--	---	-----------	-----	------	------------

Revised 1/10/23 Page 19 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
700	Drill 34-inch conductor borehole to 53', furnish and install 28-inch OD mild steel conductor casing to 50 ft feet bgs.	50	LF	425.00	21,250.00
701	Drill 17.5 inch pilot borehole (53 to 350 feet bgs)	297	LF	115.00	34,155.00
702	Perform downhole geophysical surveys (if requested)	1	LS	3,000.00	3,000.00
703	Install and perform Isolated Zone Testing	4	EA	15,550.00	62,200.00
704	Ream borehole to 22-inch diameter (53 to 210 feet bgs).	157	LF	305.00	47,885.00
705	Drill 20-inch diameter borehole (210 to 350 feet bgs).	140	LF	110.00	15,400.00
706	Caliper survey reamed borehole.	1	LS	4,000.00	4,000.00
707	Furnish and install blank well casing, 12-1/4 ID, 1/4-inch-thick wall, 304LSS (+4-210 and 330-340 ft bgs)	224	LF	310.00	69,440.00
708	Furnish and install well screen, 12-1/4 ID, 1/4-inch- thick wall, 304LSS Roscoe Moss Ful-Flo (210-330 ft bgs)	120	LF	355.00	42,600.00
709	Furnish and install well bottom caps, 304L SS	1	LS	925.00	925.00
710	Furnish and install gravel feed pipe, 2-1/2-inch diameter, schedule 40,304L SS (+3.5 to 205 ft bgs)	209	LF	80.00	16,720.00
711	Furnish and Install gravel pack (Premier Silica), disinfect and consolidate gravel pack (202-305 feet bgs).	148	LF	80.00	11,840.00
712	Furnish and Install Bentonite and Sand Transition Seals above gravel pack.	7	LF	160.00	1,120.00
713	Furnish and Install sanitary seal (10.3 sack sand-cement mix).	50	LF	70.00	3,500.00
714	Primary well development - develop and clean well by surging and airlifting with drill rig. Remove sediment from bottom of well. Only the actual time durations of active surging, bailing, and airlifting are applicable for payment	24	HR	760.00	18,240.00
715	Perform plumbness and alignment surveys	1	LS	6,000.00	6,000.00
716	Secondary well development - furnish and install submersible test pump, develop well by pumping and surging with test pump at upper and then at lower portions of the well screens (pump intake depths to be determined after final well design). Only the actual time durations of active pumping are applicable for payment.	30	HR	960.00	28,800.00

Revised 1/10/23 Page 20 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
717	Perform aquifer testing, furnish equipment, materials, and labor (8 hours for step-drawdown test, 24 hours for constant rate test, and allow full water level recovery after each test). Remove sediment from bottom of well.	32	HR	960.00	30,720.00
718	Perform downwell video log survey.	1	LS	3,250.00	3,250.00
719	19 Perform well disinfection and cap all well casings and tubes.		LS	18,000.00	18,000.00
720	Containment and offsite disposal of drill cuttings and drilling mud	1	LS	60,000.00	60,000.00
721	Standby rate – rig and crew	8	HR	760.00	6,080.00
722	Standby rate – rig only	8	HR	525.00	4,200.00
	SCHEDULE VII – EW-3B TOTAL BASE BID				509,325.00

Revised 1/10/23 Page 21 of 36

ITEMIZED BIL	SCHEDULE VIII -	- EXTRACTION WELL	CONSTRUCTION -	-EW-4:

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
800	Mobilization/Demobilization and all associated activities including permits, erosion control, hand auger probing, temporary facilities, demobilization, site cleanup, and site restoration for EW-4 extraction well, that are not already covered in Monitoring Well Construction work.		LS	45,000.00	45,000.00
801	Drill 34-inch conductor borehole to 53', furnish and install 26-inch OD mild steel conductor casing to 50 ft feet bgs.		LF	415.00	20,750.00
802	Drill 17.5 inch pilot borehole (53 to 230 feet bgs)	177	LF	120.00	21,240.00
803	Perform downhole geophysical surveys (if requested)	1	LS	3,000.00	3,000.00
804	Install and perform Isolated Zone Testing	4	EA	15,550.00	62,200.00
805	Ream borehole to 22-inch diameter (53 to 75 feet bgs).	22	LF	350.00	7,700.00
806	Drill 20-inch diameter borehole (75 to 230 feet bgs).	155	LF	115.00	17,825.00
807	Caliper survey reamed borehole.	1	LS	4,000.00	4,000.00
808	Furnish and install blank well casing, 12-1/4 ID, 1/4-inch-thick wall, 304LSS (+4-75 and 210-220 ft bgs)	89	LF	315.00	28,035.00
809	Furnish and install well screen, 12-1/4 ID, 1/4-inch-thick wall, 304LSS Roscoe Moss Ful-Flo (75-210 ft bgs)	135	LF	355.00	47,925.00
810	Furnish and install well bottom caps, 304L SS	1	LS	1,250.00	1,250.00
811	Furnish and install gravel feed pipe, 2-1/2-inch diameter, schedule 40,304L SS (+3.5 to 62 ft bgs)	66	LF	80.00	5,280.00
812	Furnish and Install gravel pack (Premier Silica), disinfect and consolidate gravel pack (57 to 230 feet bgs).	173	LF	80.00	13,840.00
813	Furnish and Install Bentonite and Sand Transition Seals above gravel pack.	7	LF	175.00	1,225.00
814	Furnish and Install sanitary seal (10.3 sack sand-cement mix).	50	LF	70.00	3,500.00
	Primary well development - develop and clean well by surging and airlifting with drill rig. Remove sediment from bottom of well. Only the actual time durations of active surging, bailing, and airlifting are applicable for payment	24	HR	760.00	18,240.00
816	Perform plumbness and alignment surveys	1	LS	5,000.00	5,000.00

Revised 1/10/23 Page 22 of 36

ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
817	Secondary well development - furnish and install submersible test pump, develop well by pumping and surging with test pump at upper and then at lower portions of the well screens (pump intake depths to be determined after final well design). Only the actual time durations of active pumping are applicable for payment.		HR	960.00	23,040.00
818	Perform aquifer testing, furnish equipment, materials, and labor (8 hours for step-drawdown test, 24 hours for constant rate test, and allow full water level recovery after each test). Remove sediment from bottom of well.	32	HR	960.00	30,720.00
819	Perform downwell video log survey.	1	LS	3,500.00	3,500.00
820	Perform well disinfection and cap all well casings and tubes.	1	LS	17,000.00	17,000.00
821	Containment and offsite disposal of drill cuttings and drilling mud	1	LS	48,000.00	48,000.00
822	Furnish materials, equipment, appurtenances, and labor to deliver, install, setup, and test a portable GAC system for VOC treatment at EW-4 site, including moving to next well site or removal.	1	LS	78,000.00	78,000.00
823	Treat purged groundwater using GAC system and reduce VOC concentrations to below the MCLs. Water shall be contained in closed top tanks. All costs to operate, monitor, and maintain the GAC system shall be included.	700,000	GAL	0.10	70,000.00
824	Onsite disposal of wastewater. Convey, connect to, and pump wastewater to sod farm irrigation system at airport.	700,000	GAL	0.10	70,000.00
825	Standby rate – rig and crew	8	HR	760.00	6,080.00
826	Standby rate – rig only	8	HR	510.00	4,080.00
	SCHEDULE VIII – EW-4 TOTAL BASE BID				656,430.00

827	Optional Bid Item: Onsite disposal of wastewater. Spray wastewater on airport roads using water spray trucks	700,000	GAL	0.10	70,000.00
828	Optional Bid Item: Onsite disposal of wastewater. Convey and pump wastewater to percolation pond at the southwest corner of airport.	700,000	GAL	0.10	70,000.00
829	Optional Bid Item: Offsite disposal of wastewater. Contain, transport, and dispose of water at IEUA Regional Water Recycling Plant No. 5 located at 6063 Kimball Avenue, Chino. Water shall be contained in closed top tanks.	700,000	GAL	0.10	70,000.00

Revised 1/10/23 Page 23 of 36

ITEMIZED BID SCHEDULE IX – EXTRACTION WELL DISINFECTION - EW-2A, EW-2B, EW-2C, EW-5A, and EW-5B:					
ITEM	DESCRIPTION	QTY	UNIT	UNIT COST	AMOUNT
900	Mobilization/Demobilization and all associated activities necessary to complete this work.	1	LS	25,000.00	25,000.00
901	Perform disinfection of 5 existing wells after installing a new permanent submersible well pump in each well. Installing the pump is a part of Well Equipping task, not Well Disinfection task. The unit is per well.	5	EA	9,000.00	45,000.00
902	Furnish equipment, appurtenances, and labor to contain, and dechlorinate purged groundwater. Water shall be contained in closed top tanks.	60,000	GAL	1.90	114,000.00
903	All costs for transportation and offsite disposal of purged groundwater at IEUA Regional Water Recycling Plant No. 5 located at 6063 Kimball Avenue, Chino.	60,000	GAL	0.10	6,000.00
904	Standby rate – rig and crew (if necessary)	20	HR	760.00	15,200.00
905	Standby rate – rig only (if necessary)	20	HR	520.00	10,400.00
	SCHEDULE IX – EXTRACTION WELL DISINECTION EW-2A EW-2B, EW-2C, EW-5A, and EW-5B: TOTAL BASE BID				215,600.00

906	Optional Bid Item: Onsite disposal of wastewater. Spray wastewater on airport roads using water spray trucks	60,000	GAL	0.10	6,000.00
-	Optional Bid Item: Onsite disposal of wastewater. Convey and pump wastewater to percolation pond at the southwest corner of airport.	60,000	GAL	0.10	6,000.00

Revised 1/10/23 Page 24 of 36

4.2 RETENTION

Payment shall not be made more often than once each thirty (30) days, nor shall amount paid be in excess of ninety-five percent (95%) of the Contract Sum at time of Final Completion. Applications for Payment shall not be deemed properly completed unless certified payrolls and any other mandatory submittals have been properly completed and submitted for each week worked during the time period covered by said payment request. Final payment is to be made sixty (60) days subsequent to filing of Notice of Completion. Contractor may, upon Contractor's written request, and approved by the Board of Supervisors, at Contractor's expense, deposit substitute securities, as stated in Government Code Section 16430, and as authorized by Public Contract Code 22300, in lieu of retention monies withheld to insure performance.

4.3 PAYMENT BY ELECTRONIC FUND TRANSFER

Contractor shall accept all payments from County via electronic funds transfer (EFT) directly deposited into the Contractor's designated checking or other bank account. Contractor shall promptly comply with directions and accurately complete forms provided by County required to process EFT payments.

ARTICLE V

BONDS, INDEMNITY AND INSURANCE

5.1 BONDS

Contractor will furnish a Labor and Material Payment Bond in an amount equal to one hundred percent (100%) of the Contract Sum, and a Performance Bond in an amount equal to one hundred percent (100%) of the Contract Sum. The Bonds must comply with all requirements in the Contract Documents, be on County approved bond forms, and be secured from a surety company satisfactory to the County within ten (10) calendar days of the award of the Contract. The Bonds shall remain in full force and effect for a period of one (1) year following the date of filing of the Notice of Completion. The Performance Bond shall name the County as beneficiary under the bond. Contractor shall also furnish a one-year Maintenance Bond in an amount equal to ten percent (10%) of the Contract Sum, which shall remain in full force for one year following Final Completion.

5.2 INDEMNIFICATION

To the fullest extent possible permitted by law, Contractor assumes liability for and agrees, at the Contractor's sole cost and expense, to promptly and fully indemnify, defend (with counsel reasonably approved by the County and/or District) (even if the allegations are false, fraudulent, or groundless), and hold harmless the County, the District and their authorized officers, employees, agents and volunteers (Indemnitees) from and against any and all claims (including claims against the County or the District seeking compensation for labor performed or materials used or furnished to be used in the work or alleged to have been furnished on the project, including all incidental or consequential damages resulting to the County or the District from such claims), allegations, actions, suits, arbitrations, administrative proceedings, regulatory proceedings, or other legal proceedings, demands, losses, costs, damages, judgments, liens, stop notices, penalties, anticipated losses of revenue and/or liability, and expenses (including, but not limited to, any fees of accountants, attorneys, experts or other professionals, or investigation expenses) arising out of, resulting from, or in any way (either directly or indirectly) related to the contract, the work, the project or any breach of the Contract by Contractor (or any of its officers, agents, employees, subcontractors, or any person performing any of the work, or from any cause whatsoever, including the acts, errors or omissions of any person and for any costs or expenses incurred by the Indemnitees on account of any claim except where such indemnification is prohibited by law. This indemnification provision shall apply regardless of the existence or degree of fault of indemnitees. The Contractor's indemnification obligation applies to the Indemnitee's "passive" negligence but does not apply to the Indemnitee's "sole" or "active" negligence or "willful misconduct" within the meaning of Civil Code section 2782 provided such "active" negligence or "willful misconduct" is determined by agreement of the parties or by findings of a court. In instances where an Indemnitee's "active" negligence accounts for only a percentage of the liability for the claim involved, the obligation of the Contractor will be for that entire percentage of liability for the claim not attributable

Revised 1/10/23 Page 25 of 36

to the "active" negligence or "willful misconduct" of the Indemnitees. The County and the District shall be consulted with regard to any proposed settlement.

The duty of the Contractor to indemnify and hold harmless the Indemnitees includes the separate and independent duty to defend the Indemnitees, which duty arises immediately upon receipt by Contractor of the tender of any claim from the County or the District. The Contractor's obligation to defend the County and the District shall be at Contractor's sole expense, and not be excused because of the Contractor's inability to evaluate liability or because the Contractor evaluates liability and determines that the Contractor is not liable. The duty to defend shall apply whether or not a claim has merit or is meritless, or which involves claims or allegations that any or all of the Indemnitees were actively, passively, or concurrently negligent, or which otherwise asserts that the Indemnitees are responsible, in whole or in part, for any claim. The Contractor shall respond within thirty (30) calendar days to the tender of any claim for defense and/or indemnity by the County or the District, unless the County and the District agree in writing to an extension of this time. The defense provided to the Indemnitees by Contractor shall be by well qualified, adequately insured, and experienced legal counsel acceptable to the County Counsel.

It is the intent of the parties to the Contract that the Contractor and its subcontractors of all tiers shall provide the Indemnitees with the broadest defense and indemnity permitted by law. In the event that any of the defense, indemnity, or hold harmless provisions are found to be ambiguous, or in conflict with one another, it is the parties' intent that the broadest and most expansive interpretation in favor of providing defense and/or indemnity to the Indemnitees be given effect.

Contractor shall ensure, by written subcontract agreement, that each of Contractor's subcontractors of every tier shall protect, defend, indemnify and hold harmless the Indemnitees with respect to all claims arising out, in connection with, or in any way related to each such subcontractor's work in the same manner in which Contractor is required to protect, defend, indemnify, and hold the Indemnitees harmless. In the event Contractor fails to obtain such defense and indemnity obligations from its subcontractors as required herein, Contractor agrees to be fully responsible to the Indemnitees according to the terms of this Section.

Contractor's indemnification and defense obligations set for in this Section are separate and independent from the insurance requirements and do not limit, in any way, the applicability, scope, or obligations set forth in such insurance requirements. The purchase of insurance by the Contractor with respect to the obligations required herein shall in no event be construed as fulfillment or discharge of such obligations.

Contractor's obligations under this Section are binding on Contractor's and its subcontractors' successors, heirs and assigns and shall survive the completion of the work or termination of the Contractor's performance of the work.

5.3 INSURANCE

The Contractor agrees to provide insurance set forth in accordance with the requirements herein. If the Contractor uses existing coverage to comply with these requirements and that coverage does not meet the specified requirements, the Contractor agrees to amend, supplement or endorse the existing coverage to do so.

Without in anyway affecting the indemnity herein provided and in addition thereto, the Contractor shall secure and maintain throughout the contract term the following types of insurance with limits as shown:

5.3.1 Basic Insurance Requirements

a. Additional Insured

All policies, except for the Workers' Compensation, Errors and Omissions and Professional Liability policies, shall contain endorsements naming the County, the District, and their officers, employees, agents and volunteers as additional insureds with respect to liabilities arising out of the performance of services hereunder. The additional insured endorsements shall not limit the scope of coverage for the District/County to vicarious

Revised 1/10/23 Page 26 of 36

liability but shall allow coverage for the District and County to the full extent provided by the policy. Such additional insured coverage shall be at least as broad as Additional Insured (Form B) endorsement form ISO, CG 2010.11 85.

b. Waiver of Subrogation Rights

The Contractor shall require the carriers of required coverages to waive all rights of subrogation against the County, District, and their officers, employees, agents, volunteers, contractors and subcontractors. All general or auto liability insurance coverage provided shall not prohibit the Contractor and Contractor's employees or agents from waiving the right of subrogation prior to a loss or claim. The Contractor hereby waives all rights of subrogation against the County and District.

Policies Primary and Non-Contributory

All policies required herein are to be primary and non-contributory with any insurance or self-insurance programs carried or administered by the County and/or District.

d. Severability of Interests

The Contractor agrees to ensure that coverage provided to meet these requirements is applicable separately to each insured and there will be no cross liability exclusions that preclude coverage for suits between the Contractor and the County and/or the District or between the County and/or District and any other insured or additional insured under the policy.

e. Proof of Coverage

The Contractor shall furnish Certificates of Insurance to the County Department administering the contract evidencing the insurance coverage at the time the contract is executed, additional endorsements, as required shall be provided prior to the commencement of performance of services hereunder, which certificates shall provide that such insurance shall not be terminated or expire without thirty (30) days written notice to the Department, and Contractor shall maintain such insurance from the time Contractor commences performance of services hereunder until the completion of such services. Within fifteen (15) days of the commencement of this contract, the Contractor shall furnish a copy of the Declaration page for all applicable policies and will provide complete certified copies of the policies and endorsements immediately upon request.

f. Acceptability of Insurance Carrier

Unless otherwise approved by Risk Management, insurance shall be written by insurers authorized to do business in the State of California and with a minimum "Best" Insurance Guide rating of "A- VII".

g. Deductibles and Self-Insured Retention

Any and all deductibles or self-insured retentions in excess of \$10,000 shall be declared to and approved by Risk Management.

h. Failure to Procure Coverage

In the event that any policy of insurance required under this contract does not comply with the requirements, is not procured, or is canceled and not replaced, the County has the right but not the obligation or duty to cancel the contract or obtain insurance if it deems necessary and any premiums paid by the County will be promptly reimbursed by the Contractor or County payments to the Contractor will be reduced to pay for County purchased insurance.

Insurance Review

Revised 1/10/23 Page 27 of 36

Insurance requirements are subject to periodic review by the County. The Director of Risk Management or designee is authorized, but not required, to reduce, waive or suspend any insurance requirements whenever Risk Management determines that any of the required insurance is not available, is unreasonably priced, or is not needed to protect the interests of the District and/or County. In addition, if the Department of Risk Management determines that heretofore unreasonably priced or unavailable types of insurance coverage or coverage limits become reasonably priced or available, the Director of Risk Management or designee is authorized, but not required, to change the above insurance requirements to require additional types of insurance coverage or higher coverage limits, provided that any such change is reasonable in light of past claims against the District and/or County, inflation, or any other item reasonably related to the District's and/or County's risk.

Any change requiring additional types of insurance coverage or higher coverage limits must be made by amendment to this Contract. Contractor agrees to execute any such amendment within thirty (30) days of receipt.

Any failure, actual or alleged, on the part of the County to monitor or enforce compliance with any of the insurance and indemnification requirements will not be deemed as a waiver of any rights on the part of the District or County.

5.3.2 Insurance Specifications

a. Workers' Compensation/Employers Liability

A program of Workers' Compensation insurance or a state-approved, self-insurance program in an amount and form to meet all applicable requirements of the Labor Code of the State of California, including Employer's Liability with \$250,000 limits covering all persons including volunteers providing services on behalf of the Contractor and all risks to such persons under this Contract.

If Contractor has no employees, it may certify or warrant to the County that is does not currently have any employees or individuals who are defined as "employees" under the Labor Code and the requirement for Workers' Compensation coverage will be waived by the County's Director of Risk Management.

With respect to Contractors that are non-profit corporations organized under California or Federal law, volunteers for such entities are required to be covered by Workers' Compensation insurance.

b. Commercial/General Liability Insurance

The Contractor shall carry General Liability Insurance covering all operations performed by or on behalf of the Contractor providing coverage for bodily injury and property damage with a combined single limit of not less than three million dollars (\$3,000,000), per occurrence. The policy coverage shall include:

- (a) Premises operations and mobile equipment.
- (b) Products and completed operations.
- (c) Broad form property damage (including completed operations).
- (d) Explosion, collapse and underground hazards.
- (e) Personal injury
- (f) Contractual liability.
- (g) \$2,000,000 general aggregate limit

c. Automobile Liability Insurance

Primary insurance coverage shall be written on ISO Business Auto coverage form for all owned, hired and non-owned automobiles or symbol 1 (any auto). The policy shall have a combined single limit of not less than three million dollars (\$3,000,000) for bodily injury and property damage, per occurrence.

Revised 1/10/23 Page 28 of 36

If the Contractor is transporting one or more non-employee passengers in performance of contract services, the automobile liability policy shall have a combined single limit of two million dollars (\$2,000,000) for bodily injury and property damage per occurrence.

If the Contractor owns no autos, a non-owned auto endorsement to the General Liability policy described above is acceptable.

d. Continuing Products/Completed Operations Liability Insurance

The Contractor will provide continuing products/completed operations liability Insurance with a limit of not less than five million (\$5,000,000) for each occurrence for at least three years following substantial completion of the work on projects over one million (\$1,000,000).

e. Builder's Risk

Course of Construction/Installation (Builder's Risk) property insurance providing all risk, including theft coverage for all property and materials to be used on the project. The insurance policy shall not have any coinsurance penalty.

f. Environmental Liability Insurance

Environmental Liability Insurance with a combined single limit of not less than five million (\$5,000,000) per claim or occurrence and a separate aggregate for the contract project. The required additional insured endorsement shall protect the County and District without any restrictions.

If insurance coverage is provided on a "claims made" policy, the "retroactive date" shall be shown and must be before the date of the start of the contract work. The claims made insurance shall be maintained or "tail" coverage provided for a minimum of five (5) years after contract completion.

g. Umbrella Liability Insurance

An umbrella (over primary) or excess policy may be used to comply with limits or other primary coverage requirements. When used, the umbrella policy shall apply to bodily injury/property damage, personal injury/advertising injury and shall include a "dropdown" provision providing primary coverage for any liability not covered by the primary policy. The coverage shall also apply to automobile liability.

h. Subcontractor Insurance Requirements

The Contractor agrees to require all parties or subcontractors, including architects or others it hires or contracts with related to the performance of this contract to provide insurance covering the contracted operations with the basic requirements for all contracts in Sections 5.3.1 and the insurance specifications for all contracts in 5.3.2, (including waiver of subrogation rights) and naming the County and District as additional insured. The Contractor agrees to monitor and review all such coverage and assumes all responsibility ensuring that such coverage is provided as required here.

ARTICLE VI

CONTRACTOR'S DUTIES AND RESPONSIBILITIES

6.1 GENERAL SCOPE OF WORK

6.1.1 Contractor shall provide all materials, labor, equipment, and undertake all efforts necessary or appropriate to construct the Project in accordance with the requirements of the Contract Documents, all governmental approvals, all Applicable Law, and all other applicable safety, environmental and other requirements taking into account the constraints affecting the Project Site. Except as otherwise specifically provided in this Contract, all materials, services and efforts necessary to achieve Final Completion of the Project

Revised 1/10/23 Page 29 of 36

and elements thereof on or before the deadlines provided in the Contract Documents shall be Contractor's sole responsibility. The costs of all such materials, services and efforts are included in the Contract Sum.

6.1.2 The Contractor and all Subcontractors shall obtain any required licenses from the local jurisdiction where the Project is located (i.e. local City or County), prior to commencement of Work.

6.2 BEFORE STARTING WORK

Contractor shall submit the following to County for review and acceptance within fourteen (14) calendar days after the Date of Commencement fixed in County's Notice to Proceed, and as a condition to payment: (i) detailed Project Schedule including each deadline specified in the Contract Documents; (ii) Schedule of Submittals; (iii) material Procurement Schedule; and (iv) a Schedule of Values in accordance with the requirements of the General Conditions and other Contract Documents.

6.3 INITIAL CONFERENCE

Within ten (10) calendar days after the Date of Commencement fixed in County's Notice to Proceed, a conference attended by County and Contractor and others as appropriate will be held to establish a working understanding among the Parties as to the Work and to discuss the schedules, progress meetings, procedures for handling submittals, processing Applications for Payment, maintaining required records, coordination with Contractor Team Members, and other Project administration matters.

6.4 EVALUATION OF PRELIMINARY SUBMITTALS

At least ten (10) calendar days before submission of the first Application for Payment, a conference attended by Contractor, County and others as appropriate, will be held to review for acceptability the submittals required by the Contract Documents. No progress payment shall be made to Contractor until the required submittals are acceptable to County. The detailed Project Schedule will be acceptable to County as providing an orderly progression of the Work to completion within any specified Milestones and the Contract Time, but such acceptance will neither impose on County responsibility for the sequencing, scheduling or progress of the Work nor interfere with nor relieve Contractor from Contractor's full responsibility therefore. The format and structure of the Project Schedule will be set forth in the Contract Documents and approved by County. County's acceptance shall not be deemed to confirm that the schedule is a reasonable plan for performing the Work. Contractor's schedule of submittal will be acceptable to County as providing a workable arrangement for reviewing and processing the required submittals.

Revised 1/10/23 Page 30 of 36

6.5 CONSTRUCTION

Contractor shall perform Construction in accordance with the requirements of the Contract Documents.

- **6.5.1** Construction shall be performed by Contractor and Subcontractors and suppliers who are selected, paid and acting in accordance with the procedures outlined in the Contract Documents.
- **6.5.2** The Contractor shall keep the County informed of the progress and quality of the Work in the form of periodic written reports and meetings, as determined by the County, but no less than monthly.
- **6.5.3** As a condition of final payment to Contractor, Contractor shall provide written certification that the Work has been constructed in accordance with the Contract Documents.

ARTICLE VII

CONTRACTOR'S REPRESENTATIONS AND WARRANTIES

In order to induce County to enter into this Agreement, Contractor makes the following representations and warranties:

- **7.1** Contractor has visited the Site and has reasonably examined the nature and extent of the Work, Site, locality, actual conditions, as-built conditions, and all federal, state and local laws and regulations that in any manner may affect cost, progress, performance or furnishing of Work or which relate to any aspect of the means, methods, techniques, sequences or procedures of construction to be employed by Contractor and safety precautions and programs incident thereto.
- 7.2 Contractor has reasonably examined all reports of exploration and tests of subsurface conditions, asbuilt drawings, drawings or reports available for construction purposes, of physical conditions, or conditions which may be apparent at the Site and accepts the criteria set forth in these documents and the Contract Documents to the extent of the information contained in these documents upon which the Contractor is entitled to rely. Contractor agrees that except for the information so identified, Contractor does not and shall not rely on any other information contained in these documents.
- **7.3** After Contract award, Contractor will conduct or obtain any additional examinations, investigations, explorations, tests, reports and studies, including but not limited to geotechnical investigations that pertain to the surface and subsurface conditions, as-built conditions, underground facilities and all other physical conditions at or contiguous to the Site as Contractor considers necessary for the performance or furnishing of Work at the Contract Sum, within the Contract Time and in accordance with the other terms and conditions of the Contract Documents
- **7.4** Contractor has correlated its knowledge and the results of all such observations, examinations, investigations, explorations, test, reports and studies with the terms and conditions of the Contract Documents.
- **7.5** Contractor has given County prompt written notice of all conflicts, errors, ambiguities, or discrepancies that it has discovered before Contract award in or among the Contract Documents and actual conditions and the written resolution thereof through Addenda issued by County is acceptable to Contractor.
- **7.6** Contractor is duly organized, existing and in good standing under applicable state law, and is duly qualified to conduct business in the State of California.
- 7.7 Contractor has duly authorized the execution, delivery and performance of this Agreement, the other Contract Documents and the Work to be performed herein. The Contract Documents do not violate or create a default under any instrument, agreement, order or decree binding on Contractor.
- **7.8** Contractor certifies that neither it nor its principals, or other key decision makers, or subcontractors is presently disbarred, suspended, proposed for debarment, declared ineligible, or voluntarily excluded from

Revised 1/10/23 Page 31 of 36

participation in this transaction by any federal department or agency. See the System for Award Management (www.sam.gov). Contractor agrees that signing this Contract shall constitute signature of this Certification.

- **7.9** During the term of the Contract, Contractor shall not discriminate against any employee or applicant for employment because of race, religious creed, color, national origin, ancestry, physical disability, mental disability, medical condition, genetic information, marital status, sex, gender, gender identity, gender expression, sexual orientation, age, or military and veteran status. Contractor shall comply with Executive Orders 11246, 11375, 11625, 12138, 12432, 12250, 13672, Title VII of the Civil Rights Act of 1964, the California Fair Housing and Employment Act and other applicable Federal, State and County laws and regulations and policies relating to equal employment and contracting opportunities, including laws and regulations hereafter enacted.
- **7.10** Contractor agrees to comply with the Americans with Disabilities Act of 1990, as amended (42 U.S.C. 12101 et seq.), which prohibits discrimination on the basis of disability, as well as all applicable regulations and standards issued pursuant to the Americans with Disabilities Act. Contractor will also comply with the current edition of the California Building Code (California Code of Regulations, Title 24, Part 2).
- **7.11** Contractor agrees to comply and certify compliance with the Drug Free Workplace Act of 1990 per Government Code Section 8350 et seg.
- 7.12 Contractor acknowledges it will comply with the provisions of Public Contract Code section 4100-4114 regarding subcontractors. The Contractor hereby agrees to reimburse the County for costs incurred by the awarding authority in the substitution of subcontractors. Where a hearing is held pursuant to the provisions of Chapter 4 of the Public Contract Code (commencing with Section 4100) by the awarding authority or a duly appointed hearing officer, the County shall prepare and certify a statement of all costs incurred by the County for investigation and conduct of the hearing, including the costs of any hearing officer and shorthand reporter appointed. The statement shall then be sent to the Contractor who shall reimburse the County for such costs. If not paid separately, such reimbursement may be deducted from any money due and owing to the Contractor prior to acceptance of the Work. For the purposes of a hearing for the substitution of subcontractors (pursuant to the Public Contract Code commencing with Section 4100) the awarding authority shall be the Director of the San Bernardino County Department of Public Works—Special Districts, or his/her designee.
- **7.13** The Contractor hereby agrees to comply with the State Labor Code and certifies through signature of this Contract that, in accordance with Section 3700 of the State Labor Code, Contractor is aware of the provisions of Section 3700 of the Labor Code which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and will comply with such provisions before commencing the performance of the Work of this Contract.
- **7.14** The Contractor acknowledges that he will be held responsible for compliance with the provisions of Sections 1777.5 and 1776 of the State Labor Code.
- 7.15 Contractor shall comply with Senate Bill 854 (Chapter 28, Statutes of 2014) and Senate Bill 96 (Chapter 28, Statutes of 2017) including, but not limited to, the following requirements: (1) no contractor or subcontractor may be listed on a bid proposal for a public works project unless registered with the Department of Industrial Relations pursuant to Labor Code section 1725.5; (2) no contractor or subcontractor may be awarded a contract for public work or perform work on a public works project unless registered with the Department of Industrial Relations pursuant to Labor Code section 1725.5; (3) this Project is subject to compliance monitoring and enforcement by the Department of Industrial Relations; (4) Contractor shall post job site notices regarding compliance monitoring and enforcement by the Department of Industrial Relations; and (5) Contractor must submit certified payroll at least monthly to the Labor Commissioner in a format prescribed by the Labor Commissioner.
- **7.16** As required by Labor Code section 1771.1(a) "A contractor or subcontractor shall not be qualified to bid on, be listed in a bid proposal, subject to the requirements of Section 4104 of the Public Contract Code, or engage in the performance of any contract for public work, as defined in this chapter, unless currently registered and qualified to perform public work pursuant to Section 1725.5. It is not a violation of this section for an unregistered contractor to submit a bid that is authorized by Section 7029.1 of the Business and Professions

Revised 1/10/23 Page 32 of 36

Code or by Section 10164 or 20103.5 of the Public Contract Code, provided the contractor is registered to perform public work pursuant to Section 1725.5 at the time the contract is awarded."

7.17 Contractor shall adhere to the County's Travel Management Policy (08-02 and 08-02SP) when travel is pursuant to this Contract and for which reimbursement is sought from the County. In addition, Contractor is encouraged to utilize local transportation services, including but not limited to, the Ontario International Airport.

ARTICLE VIII

PROJECT ACCESS. RECORD RETENTION AND AUDITS

- **8.1** At all times during construction of the Project, Contractor shall coordinate with the County to provide employees, subcontractors, and consultants of County reasonable unrestricted access to observe, monitor and inspect the Project. The County's access to observe, monitor and inspect shall include the right to review all documents and files relating to the Project, as well as construction on the Site, including all tests and inspections relating to construction of the Project.
- **8.2** Contractor expressly acknowledges it is aware of and will comply with all record retention and audit requirements contained in the Contract Documents. These requirements include, but are not limited to, the maintenance of an Official Project File that must be preserved a minimum of five (5) years, the protection of records from fire or other damage, the maintenance of all records in accordance with generally accepted accounting principles, and the agreement that the County or its designated representative shall have the right to review, to audit, and to copy any records and supporting documentation pertaining to the performance of this Agreement.

ARTICLE IX

MISCELLANEOUS PROVISIONS

9.1 INDEPENDENT CONTRACTOR

Contractor is, and shall be, acting at all times in the performance of this Agreement as an independent Contractor. Contractor shall secure at its expense, and be responsible for any and all payment of all taxes, social security, state disability insurance compensation, unemployment compensation and other payroll deductions for Contractor and its officers, agents and employees and all business licenses, if any, in connection with the services to be performed hereunder.

9.2 COUNTY EMPLOYEES AND OFFICIALS

Contractor shall employ no County official nor any regular County employee in the Work performed pursuant to this Agreement. No officer or employee of County shall have any financial interest in this Agreement in violation of applicable provisions of law.

Contractor agrees to provide or has already provided information on former San Bernardino County administrative officials (as defined below) who are employed by or represent Contractor. The information provided includes a list of former County administrative officials who terminated County employment within the last five years and who are now officers, principals, partners, associates or members of the business. The information also includes the employment with or representation of Contractor. For purposes of this provision,

"County Administrative Official" is defined as a member of the Board of Supervisors or such officer staff, Chief Executive Officer or member of such officer staff, County department or group head, assistant department or group head, or any employee in the Exempt Group, Management Unit or Safety Management Unit.

Revised 1/10/23 Page 33 of 36

9.3 INACCURACIES OR MISREPRESENTATIONS

If during the course of the administration of this agreement, the County determines that the Contractor has made a material misstatement or misrepresentation or that materially inaccurate information has been provided to the County, this contract may be immediately terminated. If this contract is terminated according to this provision, the County is entitled to pursue any available legal remedies.

9.4 IRAN CONTRACTING ACT OF 2010

(Public Contract Code sections 2200 et seq.)
(Applicable for all Contracts of one million dollars (\$1,000,000) or more)

In accordance with Public Contract Code section 2204(a), the Contractor certifies that at the time the Contract is signed, the Contractor signing the Contract is not identified on a list created pursuant to subdivision (b) of Public Contract Code section 2203 (http://www.dgs.ca.gov/pd/Resources/PDLegislation.aspx) as a person (as defined in Public Contract Code section 2202(e)) engaging in investment activities in Iran described in subdivision (a) of Public Contract Code section 2202.5, or as a person described in subdivision (b) of Public Contract Code section 2202.5, as applicable.

Contractors are cautioned that making a false certification may subject the Contractor to civil penalties, termination of existing contract, and ineligibility to bid on a contract for a period of three (3) years in accordance with Public Contract Code section 2205.

9.5 COMPLIANCE WITH AMERICAN RESCUE PLAN ACT (ARPA) CORONA VIRUS LOCAL FISCAL RECOVERY FUND REQUIREMENTS

This Contract may be funded in whole or in part with funds provided by the American Rescue Plan Act - Coronavirus Local Fiscal Recovery Fund (ARPA). Contractor agrees to comply with American Rescue Plan Act (ARPA) Coronavirus Local Fiscal Recovery Fund (CLFRF) Federal Guidelines, terms, and conditions as set forth in Special Conditions Section 53, incorporated herein by reference.

9.6 NOTICES

COUNTY

Any notices or special instructions required to be given in writing under this Agreement shall be given either by personal delivery to Contractor's agent (as designated by Contractor) or to County's Engineer and County Counsel as the situation shall warrant, or by enclosing the same in a sealed envelope, postage prepaid, and depositing the same in the United States Postal Service, addressed as follows:

CONTRACTOR

300KTT	CONTINUETOR
Department of Public Works -	Norstar Plumbing and Engineering
Special Districts	Inc.
222 West Hospitality Lane, 2 nd Floor	8780 19 th st #310,
San Bernardino, CA 92415-0450	Alta Loma, CA 91701

Revised 1/10/23 Page 34 of 36

ARTICLE X

The contract is delivered by <u>Norstar Plumbing and Engineering Inc.</u>, Contractor, to County for acceptance by its Board of Supervisors at San Bernardino, California, and is deemed to have been entered into at San Bernardino, California.

ARTICLE XI

This Contract may be executed in any number of counterparts, each of which so executed shall be deemed to be an original, and such counterparts shall together constitute one and the same Contract. The parties shall be entitled to sign and transmit an electronic signature of this Contract (whether by facsimile, PDF or other email transmission), which signature shall be binding on the party whose name is contained therein. Each party providing an electronic signature agrees to promptly execute and deliver to the other party an original signed Contract upon request.

Revised 1/10/23 Page 35 of 36

IN WITNESS WHEREOF, the Board of Supervisors of San Bernardino County has caused this Contract to be subscribed by its duly authorized officers, in its behalf, and the said party of the second part has signed this Contract.

SAN BERNARDING COUNTY					
Dawn Rowe, Chair, Board of Supervisor	Ву	(Authorized signature - sign in blue ink)			
Dated: MAR 1 4 2023 SIGNED AND CERTIFIED THAT A COP DOCUMENT HAS BEEN DELIVERED T	PY OF THIS	Marine Sue Plummer (Print or type name of person signing contract)			
CHAIRMAN OF THE BOARD	Titl	Title VP, Sec, Treas			
Lynna Monell	4	(Print or Type)			
By San Bernardino County Sen Bernardino County San Bernardino County San Bernardino County San Bernardino County San Bernardino County FOR COUNTY USE ONLY ARDINO COUNTY The san Bernardino County The sa	Da	dress 8780 19th St. #310 Alta Loma, CA 91701			
Approved as to Legal Form	Reviewed for Contract Compliance	Reviewed/Approved by Department			
► Am 6t	>	► David R. Dallet			
Aaron Gest, Deputy County Counsel	Byanka Velasco, Divi	sion Manager David Doublet, Assistant Director			
Date Feb 15, 2023	Date	DateMar 6, 2023			

Norstar Plumbing and Engineering Inc.

SAN BERNARDINO COUNTY